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ECONOMICS
( General )

Paper : 6.2
( Planning and Development in India )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions as directed :
1x10=10
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(a) In which year was the First Five-Year
Plan introduced in Indian economy?
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(b) Write the full form of NEEPCO.
NEEPCO-J #Jf #{cB1 fordr |
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(c)

(@)

(e)

Write two objectives of NEC (North-
Eastern Council).

@3- A (NEC)-< 731 Sowpy forsy |

Write one important cause of slow
industrialization in India.
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Choose the correct answer from the
bracket to fill in the blank :

Eleventh Five-Year Plan in India was

started in (1st March, 2005/
Ist April, 2006/1st April, 2007)
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() Choose the correct answer from the

bracket :

In which year was railway service started
in India? (1826/1853/ 19395)
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Choose the correct answer from the
bracket to fill in the blank :

Second Five-Year Plan gave emphasis on
——. (agriculture/industry/trade)
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Choose the correct answer from the
bracket to fill in the blank :

North-Eastern Council was established
in —. (1975/1972/1971)

T fooeq =91 wa Seach! Ko e 5% <[
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Choose the correct answer from the
bracket to fill in the blank :

Decentralized planning in Assam was
implemented from —. (1986/1989)
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Write the full form of PMGSY.
PMGSY-3 = eice forar |
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2. Answer the following questions : 2x5=10 (b) Why is Indian economy considered as
fUII0] ﬁzﬂ m W ﬁzﬂ . mixed economY?
oo WSS [ il SIS 3 @ =2

(@) What is meant by economic plan?

AT “AfPEA e [ @ 2
(c) What are the main objectives of economic

(b) Justify the need for poverty alleviation planning in India?

PP e Dyl SRR Lo ARTEA T T 2
551G B IS S I ST E 2 EE B e i
' o {r@ fr | (d) What do you mean by decentralized
planning?
(c) Write two causes of slow industrialization 5
of Assam. fReeqipe s T & o 2
PR SO ETCRAAT A9 Y51 R for o
(¢/ What do you mean by economic
(d) Give two arguments in favour of liberalization?
economic reforms in India.
ERGIS AL CRC RS i)
SRS AP FFTT FACE K51 I woefa | kS
(e) What do you mean by SGSY? Give () Write a short note on NEC.
two objectives of it. NEC-9 @%q® @5 o Gl s |
SGSY e & 1 2 TS 751 oo Seary 407 |
3. Answer any four of the following questions : e caniswer the tollovimg quesiions i
5x4=20 o7 fira epTRe e i
oS gl i CpIel BifEbt ep e fir : : W
(a) Explain the role of economic planning in
(a) What are the basic features of Indian post-liberalized period in India.
economy a developi 2 RPN
conomy as a developing one TIN TE i e SRwe i
L ;1”‘° ROl SRS e oAfFEAR PR 6
@FEIER 2
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(b)

()

Or / 94T

What are the basic objectives of economic
reform in India?

oed AP AR o S [

What do you mean by FDI? How far is it
important in Indian economy?

gers (IePR RfAce W & oqE ey eRen
GANee TN gy e 2

Or / 4]

Discuss the present trend of foreign trade
in India.

Ao TR SHed (FERE e sfeql
e 47 |

What are the importance of decentralized
planning in India and what are its
consequences?

SRES REFTFe RN 8Fg I SF 21
TR {92
Or / <1

What are the main objectives of Eleventh
Five-Year Plan and how far have these
been fulfilled? Discuss.
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(d) What is economic growth? Is there any

difference in between economic growth
and development? Discuss.

e Rerl 9 wtafer [am = Tmas
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Or / 9<1

Give arguments in favour of privatization
of industries in Indian economy.

TROY TS TR WSTR[ FoCF e
i |
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